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Note: 1. Answer my FIVE full questions,
2. M : Marks , L: Bloom's level , C: Cr

I

\]

'E full question from each module.
ntcs.

Module=:1' M L C

Q.1 a. D rflrre M arage,"ext -D escrib e its key functions. 10 LI co1

b. Explain the modern management approaches. 10 L2 co1

i. :'lrir' Olt
Q.2 a. Explain the steps invqlved,,in the decision - making process. 10 L2 co1

b. Differentiate between Strategic and Tactical planning.
, ,llr .. 

..,,,r.,

10 L2 co1

Module -'2
Q.3 a. What is the purpose of Organization? Compaie the functional type with line

typeolgariizationalstructure.,,,.,,,,,,,,
10 L3 co2

b. Erp.l.gra liow each stage

effectiienes s o f staffin g.

of st2ifflng process contribq.Xf*"'tb

.,^".4#{h
.61'' "iil ,. ''';,::,:,,

the overall 10 L2 co2

" ,,,:,, OR
Q.4 a. Explain the role of communibation in achieving effective coordination. 10 L2 co2

b. Explain the various monitoring techniques used in a sound conholling 10 L2 co2

Module - 3 ' :;..

Q.s a. Describe the qualities of an Entrepreneur.
fu%

10 LI co2

b. What are the barriers of Engepieri$urship? &&$!BM,.# 10 LI co2

OR

Q.6 fl.r'

I

Differentiate between Entrepreneur and Intralireneur.
,rlr ,r-ilr.

10 L2 co2

'brl Explain the various stages of Entrepreneurship processes. 10 L2 co2

Motlule - 4

Q.7 A. What are,l !hg. bharacteristics of Small Scale Industries? 10 LI c03

b. Explain the
Small Scale

nation , Privatization and Globalization on 10 L2 co3

& OR

Q.8 a. Compare QsnelallAgreement on Traffs and Trade (GATT) with World
Trade Organizatioh (WTO) in International trade.

10 L2 co3
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b. What are the steps involved in starting a Small Scale Industries?
ri; r' r iiiiiil I

10 L1 co3

Module - 5

Q.e a. Explain the role of District Industries Centres (DIC:9 '
rt '1r rtlr

10 L2 co3

b. Write about NSIC (National Small Industries Cg$oration). 10 L2 co3

OR,*:*, \4{

Q.10 a. Write about Project Forn,ulation Process.
n

&

10 L2 co3

b. Write about selection of projcct. 10 L2 co3
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lYote: I. Answer any FIVE full questions, choosing Ol{E fult question from each module.I. Answer any FIVE full questions, choosing OltrE full question from each module.

2. M : Muks , L: Bloout's level , C: Caurse outcomes.
: *5"

Module - 1 M L C

o.1 a. Defrne l'urbo machine and explain parts of turbomachine with'nea1 sketch" 7 L1 col
b. What is specific speed ola punrp? Derive an expression lbr the same'/ 6 L2 col
c. Tests on a turbine runner I.25 m in diameter at 30 m lread gave the

following results : Power developed 736 kW, Speed 180 rprn, Discharge

2.7 m3ls. Find the diameter, speed and discharge of a runner to operate at

45 m head and gave 1472 kW power at the same efficiency- What is the

specific speed of both the turbines?

7 L3 co1

OR

Q.2 ?,

-

With reference to expansion process, define the

corresponding relations:
(, Total-to-Totaletliciency.
(iil Static-to-StaticefliciencY.

fbllowing and write the 4 LI co1

b.

,fum
&#M

w
g

ssor respectively.
t. of compressor

8 L2 col

C. 8 L3 co1

Module - 2

Q.3 a. Euler's turbine equation and explain the

siqnillcancc of each energy components.

8 L2 co2

b. For an axial flow compressor,

- V, ItanB, + ranprl
^ = 

2U Lt."tlr. t "L l
Where V, velocity of flow, U-blade speed pr,

and outlet respectively.

pz are blade angles at inlet

7 L2 co2

c. The vetoc,ty of steam in a Delavar turbine at the iniet is 1200 rn/s. The

nozzle angle at the inlet is 22" and rotor blades are equiangular" Assume

relative velocities of the steam at inlet and outlet to be equal and tangential

speed of the rotor is 400 m/s. Detennine (i) Biade angles at inlet and outlet"
(ii) Power developed if mass flow rate is I kgls.

5 L3 co2

1 of4
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OR

Q.4 a. Show that maximum
Guide angle at inlet.

_ 2$ cos cr,

=*= G7ilo"oii, '

utilization factor, where 0 is the,,$sp€eid ratio, ar

't"' 

"ttt"''" 

"t"'1t'

, , . '1"",,',"'' 
"" 

"'

1S 8 L2 co2

b. Define utilization
factor,

V,: _ V.,I 2 ''=- \t' - RV,' '

factor and degree of reaction also show that utilization 7 L2 co2

c. The impeller of a centrifugal pu an outer diameter of 1.5 m. It lifty
water at arate of 2000 kgls"

direction of motion at outlet

with the

velocity
ot-flow is 3 m/s. Find the

5 L3 co2

Module - 3

Q.s 'td. What is contpounding? Name dil'ferent lncthods of conrpounding
explain with neat sketch any one of the method of compounding.

and 6 L1 co3

b. efficiency,

exit angle

Prove that in 5 7 L2 co3

c. A signle stage irnpulse turbine has diameter of 1.5

rprn" The nozzle angle is 20'. Speed ratio is 0.45. t
at the outlet to that at rnlet is 0.9. The otrtlet angle

at 3000
lative velocity

inlet angle" Stcam f'low rate is 6 kg/s. Drarv thc velo<

the following : (i) Blade angle (ii) Power developed

blade is 3 " less than

.y diagrams and find
(iii) Axialthrust

7 L3 co3

oR ,, .:

Q.6 a. ln a Curtis stage with two rows of moving blades, the rotors are

equiangular. The first rotor has an angle of 29" each while secondrotorhas

an angle of 32' each. The velocity of steam at the exit of nozzle is 530 mls

and blade coefficicnts are 0.9 in the tlrst, 0.95 tn the stator and in theand blade coefficients are 0"9 in the tlrst, 0.95 in the stator and in the

second rotor. lf the absolute velocity at the stage exit should be axial, find
(i) Mean blade speed (ii) The rotor efficiency
(iii) Power output for a flow rate of 32 kg/s.

9 L3 co3

b',,.- Define the following terms related to reaction steam turbine and write their
relations . (i) Blade efliciency (ii) Stage efficicncy

4 LI co3

Ul,,

Rotor diarneter = I .5 m, Speed ratro : A.72, Outlet blade angle 20 "

Rotor speed = 3000 rpm.
Determine
(, Blade efficiency
(ii) Percentage increase in blade efficiency and the rotnr speed,

rotor is designed to ruu at the best theoretical speed.

if the

7 L3 co3

ir Module * 4

Q.7 a. With reference to Hydraulic turbines, define
(r) Hydraulic effrciency (ii) Mechanical efficiency
(iii) Overallefflciency (iv) Volumetricefficiency.

4 LT co4

.': : :.-.:.1.
-1iY+r:il
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b. Show that maximum hydraulic efficiency in a Pelton wheel
I + C. cosB.

Iln,u*=---T
Where C,, - blde velocity coefficient and Bz is blade angle at exist.

7 L2 co4

c. 9 L3 co4

OR
o.8 a. Explain the construction and working of Kaplan turbine with neat sketch. 6 LI co4

b. The following data is given for a Francis turbine. Net head : 70 m.

Speed * 600 rpm, Shalt power = 370 kW, rlc = 0.80, q,, = 0.95 ,

flow ratio:0-25, Breadth ratio:0-1, Outer diameter of the runner is:2
times inner diamctcr ol runncr, The thickness ol'valtcs occupy l0% of

I area of the runngr. Welocity of flow is constant and

(i,
( iii)
(iv) *@,t w

; radial at outlet? Determine
Cuide blade angle.
Runner angle at inlet and outlet.
Diameter of the runner at inlet and outlet.
Width of the wheel at inlet.

7 L3 co4

c. l)efine draft tube efficiency" Derive an expression for
draft tube and its efficiency.

inlet pressure hbad of

ii;.,;::ltl!i,,

7 L2 co4

Module * 5
l-I

l{1*#&ffid

Q.e a.

t

1 L1 co5

b. Derive an expression for H-Q characteristic curve for a centriftlgal purnp.

Discuss the H-Q curve tor forward, radial and backward curved vanes.

I L2 co5

c. A smgie stage centrifugal.purnp with a impeller diameter of 30 cm rotates

at 2000 rpm and lifts 3 rnrls water to a height of 30 m with a manometric

efficiency af 75oh" Find the number of stages and diameter of each irnpeller

of a multistage pump to litt 5 m'/s of water to a height of 200 m when

roiating at 1500 rpm

5 L3 co5

"# OR
o.10 a. With neat sketch. explain slip, slip coefficient and slip factor. 6 L1 co5

b. Explain the phenomenon of surging and stalling. 4 L1 co5

,,q&fffi*s/

3 of4

A Pelton turbine has a water supply of 5 m'/s at a head of 256 m and runs
at 500 rpm. Assume a turbine efficiency of 0.85, a coefficient of velocity
for nozzle as 0.985 and a speed ratio of 0.46. Calculate

,]i qf
&&ffii

'"

s

(D
( ii)
(iii)
(iv)
(v)
(vi)
(vii)

Power output
Specific speed
Number of Jets

Jet diameter
Diarneter of whecl
Number of cups

Cup dimensions.
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c. A single sided centrifugal air compressor
produced a pressure ratio of 4 : l. The

running at a speed of 16500 rpm
hub diameter at the eye of the

(ir) Blade angle at eye root and eye tip.
(iiil Impeller tip diameter
(iv) Shaft power input to the compressor if the mechanical efficiency

is 97%.

The stagnation temperature and pressure at inlet 'C and 1 bar" The
cornpressor is 16 cm. Inlet of air to the rotor is axial to 120 m/s.

mass flow rate is 8.3 kg/s and the total head i efficiency is 78%.

The pressure coefficient is 0.7. Determine
(i) Eye tip diameter

10 L3 cos

te,w s
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Fifth Semester B.E./B.Tech. Degree Examinffiffi'U ec.20241 Jan"2025
:

Theory of Maclriiiqs

Time: 3 hrs. Max. Marks: 100

l{ote: l. Ansrt,er unt: FII/T Jirll questiotts, choosing OIYE lull rluestionfrom etch module.

2. M : trlurhs , L: Bktom's level , C: Course outconrcs.

Nlodule * t M L C

Q.1 a. Detine . (i) Kinematic link
(iii) Kinematic chain
(v) Maclrrnc.

(ii) Kinematic pair
(iv) Mechanism

10 L1 co1

t). I3rie11y explain the fblloll,ing inversions :

( i) Bcarn e rtg inc
(ii) Watt's straight line mechanism i,1l*irl\

l0 L1 co1

OR

Q.2 L.

Q2 (a)

t.-ffi

',*,{::"

Fig

ln a slider crank mechanisnr" the crank OB : 30 mm and connecting rod
BC: 120 mm.'l"he crank rotates at a Ltniform sPL'cd ol'300 rprn clockwise^

Iror the crank positron as shown in Irig. Q2 (a) ; find (i) Velocity of Piston

C and angular velocity of connecting rod BC (ii) Acceleeration of piston C
and anguiar accelcration of connecting rod BC.

r0 L3 col

b. If the crank and sonnecting rod arc 150 mrn and 600 rnm long respectively

ancl the crank rotates at a unilbrnt speed of 100 rpm closckwise, determine

tlie angular velocity and angular acceleratiotr of contlecting rod and velocity

of the piston b-v using Ravct-t's approach. The angle which thc crank nlakes

rvith the inner cicad center is 30'.

10 L3 col

Module - 2

Q.3 a,

i

With a neat skctch. erplain the following .

(i) Eqr,rillibrium of Three tbrce members
(ii) Equrllibrium ol'ljour lbrce membcrs.

10 L1 co2

t'E:',"

AB = 100 mm ancl BC: 300 ulate the driving torque T,.

Fie. Q3 (b)

10 L3 co2

t of3
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OR

Q.4 a. Explain :

(i) Dynamic force analysis.
(iil D'Alembert'sprinciple. * **{ \l

10 L1 co2

b. A punching^ machine punches 38 mm holes in 32 mm thick plate requires

7 N-m/mm2 of sheared area and punches one hole in every 10 sec' The

mean speed is of the flywheel given is 25 m/sec. The pur-rch has a stroke of
100 rnm. Find :

(i) Power require<l to drive the machine.
(ii) Mass of the f'lwvhcel, if total fluctuation of speed is ,r,,t lq ,"9!41%.

10 L3 co2

i\lodule - 3

Q.s a. Definc the
(r)
( ir)
( iii)
(iv)
(v)

10 L1 co3

b. A pinion having 30 teeth drives a gear having 80 teeth. 'l'he prolile olthe
gears is involute with 20" pressure angle, 12 mm modtrle and 10 mn1

addendum'Findthelengthofpathofcontact@

10 L3 co3

{&- OR

Q.6 a. iterive rvith usual notations; an expression for velocity ratio of compound
gcar trains.

10 L2 co3

b. ln an Epicyclic gear train, an arm carries two gears A and 1l having 36 andln an Epicyclic gear train, an arm carries two gears A and 1l

45 teeth respectively. lf the arm rotates at I 50 rpm in
direction about centre of gear A which is fixed as sholt'n
rhen determine soeed of sear B" If the sear A instead of beirthen determine speed of gear B" If the gear A instead of being fixed makes

300 rprn in clockwise direqtion, wl-rat will be the'speed of gear B? Usc

Tabular mcthod.
r'?.k*-,"Y * ""- fu=S€-t *:

!l: *-. .f
{r,

,! Slutsr'"!:

10 L3 co3

Module - 4

Q.7 ai
.:

A shaft carries 4 urasses A, B, C, D in parallcl planes rn this older along its

lengtli. The masses at B and C are 18 kg and 12.5 kg respcctively. Each of
B ind C has an eecenlricttv o[ 60 tttltt. Thr.' nlasses at \ rltttl D havc an

eccentricity of 80 n,m. The angle between B and C rs 10(t and in between

Il ancl A is 190', both being measured in same direction.'['1rc axialdistance

between A and B is 100 tnm and irt hctween B and t- is 200 nlm. For the

slraft to be in cornplete balance, deterntinc nragnitude of nlasses at A and D

as well as the angular position of mass at D.

10 L3 co4

b. A lour cylinder vertical engine has cranks 150 mm long. 1'he planes of
rotation of tire 1",2ud and 4tl'cranks are 400 mm,200 mm and 200 mm
respectively from 3'd crank and their reciprocating masses are 50 kg, 60 kg
on,i SO kg respectively. Find the mass of the reciprocatin-q parts of 3''l

cylinder and relative angular positions of the crauks in orcler that the engine

may be in complete primary balance"

l0 L3 co4

2 ot3

,w
.'11

t{fi:--
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OR

Q.8 L. f)efine the following terminologies :

(i) Sensitivcncss
(ii) Stabiliry
(iii) Hunling
(iv) Efturt
( v) Pol,r,er.

10 L1 co4

b. A Porler govcrnor has eqr-ral artns cach of 250 mtn long and pivoted on the

axis of rotation. trach iiyball ltas a mass of 5 kg and the mass of central

sleeve is t5 kg. The radius of rotation of the flyball is 150 mm when the

governor begins to lift and 200 trm when the governor is at maxitnttln
speed. Irincl the tnittinittttt, tnaxitnutn spceds and the range olspeed oltlie
Iovcrnor.

10 L3 co4

Module - 5

Q.e a. Definc the follora ing typcs olvibrlrtions :

(rt Iit'ce r tlrnttion.
(irt lrot,.'t'tl i tbrattott

1 iil; I)lrrnPctl I ihrtrt itrtt
(iv) lJnclatripectvibration
(v) I-onqrtuclinalvibration

l0 L1 co5

h. Deterrnine thc natural fi-equency o1'the spring mass pulley system as shown

in Fig. Rq ).
_,1ffL* 

*
....: -''<*.1*

B1

a, '.*-
'i-.i1,iri;i \'t'': 

'l
,t,

ttr

,i'" 1*,,.,.

'rr b,,'

t&.

#r&ffi;

.J' --

10 L3 cos

Q.10 Explaitr the firllowirtg .

a. Rotating unbalance"
b. Reciprocatingunbalance.
c. Villratioltisolation
d. Critical specci.

.,j|.:-,...,.-.1

20 L2 cos

3 of'3
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Fifth Semester B.E./B.Tech. Degree Exa tion, D ec.20241 J an.2025
Environmen udies

Time: t hr.l .[Max. Marks: 50
:: ]i'

INSTRUCTTONS TO THB CANDIDATBS

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3. For each question, after selecting your answer, darken the appropriate circle

corresponding to the same question number on the OMR sheet.

4.

5.

Darkening

Damaging/overw

prohibited.

1. Average long - term weather of an area is called
a) Weather conditions , b) Seasonal variations
c) Average weather d) Climate

2. Climate and global air cifculations are mainly affected by the properties of
a) Water and Air b) Temperature 

, ,9) 
Precipitation d) None of these

3. The pH of acid rain is
a) less than 5.iuil b) 5.2 - 6.2,.,, .. .. c) 6.2 - 7.% " d) Above 7 .2

y day due to
b) Industrialisation

Acid rain has been increasi

c) Increase in vehicle populatit

Which is responsible for Ozone

c) Increase in vehicle population d) None of these

5. Which is responsible for Ozone depletion?5. Which is responsible for Ozone depletion?
a) Methyl bromide b) CFC's
c) Hydro chlorofluorocarbons d) All of these

6. The International protocol to protect the Ozone layer's
a) Kytoto protocol b) Basal protocol c) Montreal protocol d) Viema protocol

The Ozone layer is locate upto 

- 

km above the.earth surface.

a) 1000 b) 50 c) 80 d)

Acid rain effects on
a) Materials b) Plants c) Soil d)

Fligh - Concentration of fluoride content in drinking water causes.

7.

8.

9.

100

A11of these

a) Dental flurosis b) Bone brittling c) Dental caries d) Plague
Ver-D-1of4

Paper Version : D

ffiffiffiEffi



BESKsOS

10. Desired concentration of fluoride content in drinking water in mg/0 is
a)0.1 -t.2 b) 0.s-2 c) 2-s i d) l-r.1s

a) Animals b) Human beings c) Plants d) Fish

L2. An ecosystem consists of
a) Biotic species b) Biotic species and physical factors
c) Only insects d) Only materials

13. The term Ecology was coined by
a) E.P. Odiyum b) A G. Tansley c) Albert Einstein d) A.G. Haeckal

L4. Which year did the concept of sustainability first appear?
a) 1992 b) 1978 c) 1980 d) 1987

15. According to United Nations, the following are the significant issues of social progress.
a) Instruction 

, 
,, , b) Public Health c) I iving standards d) All of these

L6. The number of SDGS are
a) 10 b) ls c) 17 d) t6

L7. Which one of the following is not comes under SDG's?
a) Zero Hunger b) Political activity c) Education d) Gender quality

18. Which of the following has the largest population in food chain?
a) Producers b) I't degree consumers
c) 2nd degree consumers d) Decomposers

19. U.N era of scheduling for sustainable growth is from
vl " 

',

20. Which of the lollowing is an example of Artificial Ecosystem?
a) Forest b) River c) Aquarium d) Lake

21. The First United National conference as Human Environment was held at Stickholm in
a) December 1972 b) Jine 1912 c) J:ul:re 1974 d) lune 1992

?),,,,,,.11t,',.te 
1972

clean environ22. To achieve the goal of clean environment, important strategies required are
a) Effective laws b) Active participation of the publicsa) l,Ilectlve laws b) Actlve partlclpatlon oI the publlcs
c) Active participation ofNGO's d) Both (a) and (b)

23. There are provisions flor protection for our environment under
a) Indian Penal Code b) Police Act c) Municipal Act d) All of these

24. The Government of India enacted the Water Act in the year.
,l

a) 1970 b) 1,974 c) t91s

25. The Environmental Act of India was enacted in the year.
a) 1986 b) 1992 c) 1984

26. The Environmental Act, 1986 deals with

d) lune 1992

d) 1980

d) 1974

d) All of thesea) Airf=*
.,": ",*"'

I

b) Water c) Land
Ver-D-2of4
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27, Karnataka State "Pollution Control Board" was established in the year.

a) t974 b) 1982 c) 1986 d) 1976

28. Which of the following is not a waste treatment method for biomedical waste?

a) Incineration b) Chemical disinfecting
c) Auto claving d) Sieving

29. The Organic material of the solid waste will decompose.
^\ D-, +L^ fi^.., ^f ,,,^+^- 1-\ P., flro onil narfinloc
The Organic material of the solid waste will decompose.

a) By the flow of water b) By the soil particles

Which of the following e

a) Lead b) Gh'ffi c) Plastic d) Iron
...,:ie, 1t$!&

Hssil

31. Temporary hardness of water is due to

.) ny the action of micro organisms d) B Oxidationv)

e - waste hazardous ih nature?

^\ Dloolin ;

Which is not a natural source of
a) Volcanoes b) Foresl

c) In sanitary land fill site d) A1l of these

What is major cause of aii pollution?
a) Fossil fuel burning b) Industry emission
c) Wild fire d) A1l of these

I emporary naroness or waler 1s oue ro

a) Chloride hardness b) Manganese hardness

c) Calcium hardness d) Carbonate hardness

,:,::,'::',:,::::, 
'' 

, ""'...,,,,.,.

32. The green hous'b $s is

a) NzO ,,',',,," b) CHa 
* 

",,l*''b) COz d) All of these

33. Which is not a natural source of pollution?
a) Volcanoes b) Forest - Fire c) Coal - fire d) Dust storms

34. Air pollution fronr automobiles can be controlled by providing
a) Wet collector b) Scrubbers c) Catalyic converter d) All of these

2tr \I^--.1 .^"-,{ lo.,ol ^f ^"iaf cnoanh ic35. Normal sound level of quiet speech is

a)120dB b)90dB ,.)140dB 
,, 
,, d)50dB

36. What is the permissible range of pH for drinking water as per the Indian standard?

a) 6 to 9 b) 6.5 to 7.5 c) 6 to 8.5 d) 6.5 to 8.5

37. Which of the f'ollowing is a major cause of soil pollution?
a) Accidents involving the vehicles that are transporting waste material.
b) Pesticides and chemical fertilizers from ag,ricultural lands

c) Improper solid waste disposal d) A1l of these

38. What does E - Waste stand for?
a) Environment Waste b) Electronic Waste4., -Dlrvllotrtlrefit YYa$ttr u) DtwL]

c) Equipment Waste ) AX of these

39. What is municipal solid waste disposal?
a) The placement on the load b) The lack of waste

c) In sanitarv land fill site d) A1l of these

41. Solar Energy is an example of
a) Renewable b) Continuoul.._r?f,?1 renewable d) Noneofthese
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42, Hydrogen energy can be tapped through
a) Heat pumps b) Fuel cells c) Petroleum d) Gassifiers
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arks: 100

module.

Itttttrrttl
Fifth Semester B.E./B.Tech. Degree Examinatio n, D ec.2024 I J an.2025

Supply Ghain Manaqement and l,ntibduction to SAP

Time: 3 hrs.

Note: 1, Answer any FIW full questions,
2. fuI : Mnrks, L: Bloom's level, C:

cltoosing ONE futt question
Course outconrcs.

Max" M

from e,,ach

Module - I M L C

o.1 a. Explain the fundamentals and evaluation of SCM, 10 L2 col
b. Discuss the decision phases involved in SCM. 10 L2 co1

OR

Q.2 a. What are the enablers and drives of supply chain performance? Explain
with cxamplc.

10 L1 col

b. Describe the strategic sourcing and make vs buy decision. 10 L2 co1

Module - 2

Q.3 a. Explain the concept of warehouse management and the role of stofes

system and procedures.
10 L2 co2

b. Discuss the irnportance ol mater
supply chain management.

10 L2 c02

OR

Q.4 a, f)escribe the f'actors inflr.rencing distribution nctworks design in supply

chain rnanagcment.

10 L2 co2

b. Explain the models fbr facility location and capacity allocation. 10 L2 c02
"4 '1"'

,.ill::: 'l:

ModulC -:r3t.
o.5 a. What is supply chain network optirnization? Discuss its irnportance' 10 LI c03

b. Erplain the irnpact ol uncertainty on network design using decision trees 10 L2 c03
OR

Q.6 a, Discuss the multiple item and multiple location inventory management

techniques.

10 L2 c03

b. Explain the concepts of pricing and reverse rxanagcment in supply chain

managerncnt.

10 L2 c03

Module - 4

Q.7 a. Describe the process of supply
buildine partnership.

c 10n and the importance of 10 L2 co4

b. Explain the Bullwhip eflect and its impact on supply chain per&qqq!!c' 10 L2 co4
OR

o.8 L. Discuss the role of IT in supply chain management and its factor trends. 10 L2 co4
b. Explain the concept of reverse supply chain an@ 10 L2 co4

Module - 5

o.9 a.

-

Describe the SAP,material rlanagement system and itq kqy rqlgpengnts. 10 L2 cos
b. Eiplain the procui'ernent process in SAP with the stepq l4vqlved. 10 L2 cos

OR

Q.10 a, Wh"t 
"t 

th- srgnificance of master data management in SAP? Discuss its

role in procurcment.

10 L2 co5

h Exolain importance of transaction codes in SAP material management. 10 L2 cos
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Fifth Semester B.E./B.Tech. Degree Examindtion, Dec.2\24l J an.2025
Research Methodolo$ff,5nd IPR

Time: 3 hrs. ',,,,,,,,,,,,'''::\t,-'"'" 
Max. Marks: 100

rt1r,q, i

Note: l. Answer any FIW full questions, choosiag ANE full question from epch module.
2. M : Marks , L: Bloom's level , C: Cottw3 outcomes.

\ Y., s L L tr L C \ I

Module - I M L C

Q.1 a. Identily the meaning of Research and briel'out the obiectivc and motivation
in engineering research"

10 L1 co1

b. Explain brief about
diagram.

researCh,,,,ffc1e and

,ir. ,:'

verify with the research flow 10 L1 co1

OR

Q.2 a. Identify the types of engineering research and bricfly explain them. 10 L1 co1

b. 10 L1 co1

Module - 2

Q.3 a. Explain about the importance of literature review and technical reading. 10 L2 co2

b. Mention the various benefits of bihliographic databases. 10 L1 co2

OR

Q.4 a.
.',:::.

10 L1 a1 (11

b. Enumerate the impact of title and kel, ,vords on citation with example. 10 L2 co2

Module- 3

Q.s a, Define Intellectual properties and explain about its t1pes. 10 Ll co3

b. Explain about the key aspect of patent law. 10 L2 co3

OR

Q.6 0,, 10 L1 co3

'b, Brief about the patent procedure in India. 10 L1 co4

Moflule - 4

Q.7 a. Mention and brief about the justification for coplright law. 10 L2 co4

b. Explain about the basic concepts of under lying copyright law. 10 LI co4

OR
Q.8 L, Brief about the various representations of'sound recordings- 10 L2 cos

b. Explain about TRIPS agreement in detail. 10 L1 co5

I of2

i .;1,. 
,.;111|,

Explain about the different tlpes of rescarch misconduct.

Indentif,; the impact of tcchnical reaction and brief about it.

Explain about the assessment of novelty.



Module - 5

Q.e a. Explain about the justification of protection designs. 10 L2 co5

b. Brief about
protection,

the excluded subjected context of design 10 L1 cos

OR "'ri'1,r,,,,.,,-

Q.l0 a, What are the rights of the owner of designs? Explain. 10 L1 co5

b. Brief about the Assignr.nent of Design Rights. 10 L1 co5

BRMK557
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